A gL [ smer ||[BE 159

FRE
T fH 2] 50 =

| m 1| HERKIECLH30. BELTELA,

X
< ( )OHREERHE, DITHE  ETHVE & >~—
ZFUVE ETOSTH, KVYBERHAFERLLR

L3y ~x & o diF

BH¥ X7Bh HXD
0%4%7&/&’) (19351

(1) (111—-63) +2%x2%x2= (2) (111-63) +(2X2)x2=24
(3)72—14%x6+3=44 (4) (72—14)+(6+3)=29

(5) (12+8%x21) +12=15 (6)252+4+72+-8=72

(7) (203—26X%x7) ~(7x3)=1 (8) (91+(500—33%x7))+6=60

O RoXHERVLDOESILRIZ( ) EBEANES (122
(14 4+36)+-4x2 =20 @50+ 10)x 10 = 2 =300
(3 23 x(91 = 13)=161 (4)(38 + 16)=(22 — 16)= 9

5 121 =(121 — 10 x 11)= 11

BA 2NV

€) ROBMBEE1DORICLT. BEXHHED l1msa)

(1) 1 D65ADEFALODZEIOZEEHTEDE. 1800MICLLABDZEDTT,
SO0ZFHEDHTESENDTDEILIE. BFEALOD T DICDENSDRLLRYET D

X (65%X30—1800) ~30=5 %z 5H

(2) 727C21.5cm #&43.5cmOKRAEDPHVET .
CORAREEDYDRESDECIEARD1BIEFIem T D

X (21.54+43.5)x2+-4=32.5 %z 32.5cm

©&FIZ®»ch @ misonya.com




AEs gL [ smez || 159

FRE
T fH 2] 50 =

m Y| (1545) x3+5x6 =20%x3+30=60+30=¢90 ", %g\
< 80— (3+8) x5=80-11x5= 80-55=25 - fg%

a3 150+ (10%x3)+25=150+(30)+25=2 s

0%\-%&[,;5 [179355]

(1)107—150+2+88+4= (2)26X9—-702+3=0

(3) (1114+24%x6)+-15=17 (4) 186+-6+133+7=50

(5)176+(22—98+7)=22 (6)17+56%Xx14+-56=31

(7) (2736+8—27X6)+~60=3 @) 77TXT7T7+77—77X78=0

O RORBBRYETDESI RIZ( ) EBEANED (112
(V8 +7 +5 -5 =4 (2) 18 +(17 + 46)+ 7 =27

3) 7 xX(7 + 7)== 7 =14 (4) (70 + 28) - 14 — 5 =2
(5) 72 +(9 + 27)x (74 + 37)=4

€) ROMBEE1DORICLT. BEXEHES (1m32)

(1) 1FW7.5800vF—%. 208DFICT14FVNT DANTVEEL /=,
CDEXE JYF—PAD/H24ZDEZIE. Ik T H

X (7.5X14+420) x24=3000 %z 3kg

(2) 128D 2—A%&3ARE. 728D/ W DODPEST. 500 FE2FWNT
BEZEFS5276.BHUHPT12BTLIZ. NVERIZEWELLED

& (B00OX2—128%x3—112) ~72=7 B2 12

©&FIZ®»ch @ misonya.com




80+40+8x5-8=2+40-8= 34

L3y ~x & o diF

100+250+10+25=100+25+25=101

AFEE || EHBR)IL SHE®-3 iR 15 9
R
T = T 40 =
S0y 0| 20+6x5+10%1 = 20430410 = 60 ',
-l

BH¥ X7Bh HXED

O roxpRUIoES. [ |BERZS 1o

(1) 5x8— +3=30 (2) 8x[ 10 |=4x5=100
(3)60+12X 4 |—-8=66 (4)] 33 [+3+88+8=22
(6) 18X (30—| 60 |+=5)=324 (6) 25X4+[400|+-4=200
) ([28 |+36x2)+10=10 (8 (138—6x[ 3 |)+5=24

O romEz. (HaHl%

(1) BT (&L TEOHEIFBTBHE130ICRVET

e

ELZZ1DDORICLT. [HEDHIBHEZD 1r94)

HRZ (D)

(2) 7T0005H 28DV eHE32ThBHE 19HFYOICRYET

2 (700—

) ~32=19HF)6

B2 (DBHB) 86

(3) 175ICH B ED T 7=5H»h510020< . 400%5FL#HERUICRVET

2 175X

—100=400X%5

B2 (DB 12

(4) 4I. B2 HDB3B8% VDN EHEE2THh>TI16/FLTTE 100ICARYET

ﬁ4+(

—38)+52%X16=100

HZ2(BB¥) 350

©&FIZ®»ch @ misonya.com




	MS_4_sansudrill_25_keisan2_1A
	MS_4_sansudrill_25_keisan2_2A
	MS_4_sansudrill_25_keisan2_3A

